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Find out the correct answer from the following
alternatives in each question :
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Answer the following :
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Show that for any discrete distribution,
standard deviation is not less than mean

deviation from mean.
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If y; =a+bx;, i=1,2, -, n, then show
that r, the sample correlation coefficient

of the data set (Xi» y) i=1,2, 1 is
given by fijr=1 if b>0 and (i) r=-1, if
b <0. Here @ and b are constants.
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When are two attributes said to be
iated and negatively
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What are the different measuring scales
to measure statistical data? Define each
of them with suitable examples.
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What do you mean by Spearman’s rank .
correlation coefficient? What is the limit
of rank correlation coefficient? The
coefficient of rank correlation between
the marks in English and Mathematics
obtained by a certain group of students is
0-8. If the sum of the squares of the
difference in ranks is given to be 33, find
the number of students in the group.
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Prove that if one of the regression
coefficients is greater than unity, the
other must be less than unity. Given that
X =4Y +5 and Y=kX +4 are the lines
of regression of Xon Yand Yon X
respectively. Show that 0<4k<l If
k=1/16, find the mean of the two
variables and the coefficient of correlation
between them.
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